South East Asian J. Math. \& Math. Sc.
Vol. 6 No.2(2008), pp.45-50

# ON CERTAIN ETA-FUNCTIONS IDENTITIES 

R.Y. Denis, S.N. Singh* and S.P. Singh*<br>Department of Mathematics<br>University of Gorakhpur, Gorakhpur-273009, India<br>E-mail: ddry@sancharnet.in<br>*Department of Mathematics<br>T.D.P.G. College, Jaunpur-222002, India

(Received: February 07, 2008)
Dedicated to Professor G.E. Andrews on his seventieth birthday
Abstract: In this paper, we establish certain Eta-function identities.
Keywords: Eta function, basic hypergeometric functions, basic bilateral hypergeometric functions
AMS Subject Classification: 33D15, 33E20

## 1. Introduction

For $\alpha$ and $q$ real or complex $(|q|<1)$, we define

$$
\begin{gathered}
{[\alpha]_{n} \equiv[\alpha ; q]_{n}=(1-\alpha)(1-\alpha q) \ldots\left(1-\alpha q^{n-1}\right), \quad n>0, \quad[\alpha]_{0}=1} \\
{[\alpha]_{\infty} \equiv[\alpha ; q]_{\infty}=\prod_{n=0}^{\infty}\left(1-\alpha q^{n}\right)}
\end{gathered}
$$

With the help of above notations, we define a basic hypergeometric function

$$
{ }_{r} \Phi_{s}\left[\begin{array}{ll}
a_{1}, a_{2}, \ldots, a_{r} & ; q ; z  \tag{1.1}\\
b_{1}, b_{2}, \ldots, b_{s} & ;
\end{array}\right]=\sum_{n=0}^{\infty} \frac{\left[a_{1}\right]_{n}\left[a_{2}\right]_{n} \ldots\left[a_{r}\right]_{n} z^{n}}{[q]_{n}\left[b_{1}\right]_{n}\left[b_{2}\right]_{n} \ldots\left[b_{s}\right]_{n}},
$$

valid for $|z|<1$.
We also define a basic bilateral hypergeometric function

$$
{ }_{r} \Psi_{r}\left[\begin{array}{ll}
a_{1}, a_{2}, \cdots, a_{r} & ; q ; z  \tag{1.2}\\
b_{1}, b_{2}, \cdots, b_{r} & ;
\end{array}\right]=\sum_{n=-\infty}^{\infty} \frac{\left[a_{1}\right]_{n}\left[a_{2}\right]_{n} \ldots\left[a_{r}\right]_{n} z^{n}}{\left[b_{1}\right]_{n}\left[b_{2}\right]_{n} \ldots\left[b_{r}\right]_{n}}
$$

valid for $\left|b_{1} b_{2} \ldots / a_{1} a_{2} \ldots a_{r}\right|<|z|<1$.
(1.2) reduces to (1.1) if any of the denominator parameters tends to $q$.

We define Dedekind Eta function

$$
\eta(\tau) e^{-\pi i \tau / 12}=[q]_{\infty}, \text { where } q=e^{2 \pi i \tau}, \operatorname{Im}(\tau)>0
$$

We shall also make use of the following Ramanujan's ${ }_{1} \Psi_{1}$ summation

$$
{ }_{1} \Psi_{1}\left[\begin{array}{ll}
a & ; q ; z  \tag{1.3}\\
b & ;
\end{array}\right]=\frac{[b / a]_{\infty}[a z]_{\infty}[q / a z]_{\infty}[q]_{\infty}}{[q / a]_{\infty}[b / a z]_{\infty}[b]_{\infty}[z]_{\infty}}
$$

Any other notation appearing herein shall carry its usual meaning.

## 2. Main Results

In this section, we shall discuss our main results.
Setting $a=\frac{1}{\alpha}, b=\beta$ and replacing $z$ by $-\alpha z q^{1 / 2}$ in (1.3), we get

$$
\begin{align*}
& \frac{\left[-z q^{1 / 2}\right]_{\infty}\left[-q^{1 / 2} / z\right]_{\infty}[q]_{\infty}[\alpha \beta]_{\infty}}{\left[-\alpha z q^{1 / 2}\right]_{\infty}\left[-\beta / z q^{1 / 2}\right]_{\infty}[\alpha q]_{\infty}[\beta]_{\infty}} \\
& \quad=\sum_{k=1}^{\infty} \frac{[1 / \alpha]_{k}\left(-\alpha z q^{1 / 2}\right)^{k}}{[\beta]_{k}}+\sum_{k=0}^{\infty} \frac{[q / \beta]_{k}\left(-\beta q^{-1 / 2}\right)^{k} z^{-k}}{[\alpha q]_{k}} \tag{2.1}
\end{align*}
$$

On differentiating both sides of (2.1) with respect to $z$, we set after some simplification,

$$
\begin{align*}
& \frac{[q]_{\infty}[\alpha \beta]_{\infty}}{[\alpha]_{\infty}[\beta]_{\infty}}\left\{\frac{\left[-z q^{1 / 2}\right]_{\infty}\left[-q^{1 / 2} / z\right]_{\infty}}{\left[-\alpha z q^{1 / 2}\right]_{\infty}\left[-\beta / z q^{1 / 2}\right]_{\infty}}\right\}\left\{\frac{q^{1 / 2}}{1+z q^{1 / 2}}+\frac{q^{3 / 2}}{1+z q^{3 / 2}}+\ldots\right. \\
& -\left(\frac{q^{1 / 2}}{z^{2}\left(1+q^{1 / 2} / z\right)}+\frac{q^{3 / 2}}{z^{2}\left(1+q^{3 / 2} / z\right)}+\ldots\right)-\left(\frac{\alpha q^{1 / 2}}{1+\alpha z q^{1 / 2}}+\frac{\alpha q^{3 / 2}}{1+\alpha z q^{3 / 2}}+\ldots\right) \\
& \left.+\left(\frac{\beta q^{-1 / 2}}{z^{2}\left(1+\beta q^{-1 / 2} / z\right)}+\frac{\beta q^{1 / 2}}{z^{2}\left(1+\beta q^{1 / 2} / z\right)}+\frac{\beta q^{3 / 2}}{z^{2}\left(1+\beta q^{3 / 2} / z\right)}\right)\right\} \\
& =\sum_{k=0}^{\infty} \frac{(k+1)[q / \alpha]_{k}(-\alpha z)^{k} q^{(k+1) / 2}}{[\beta]_{k+1}}-\sum_{k=0}^{\infty} \frac{k[q / \beta]_{k}(-\beta)^{k} q^{-k / 2} z^{-k-1}}{[\alpha]_{k+1}} \tag{2.2}
\end{align*}
$$

Now putting $z=-q^{-1 / 2}$ in (3.2), Bhargava and Somashekara [1] received the following result,

$$
\begin{equation*}
\frac{[q]_{\infty}^{3}[\alpha \beta]_{\infty}}{[\alpha]_{\infty}^{2}[\beta]_{\infty}^{2}}=\sum_{k=0}^{\infty} \frac{(k+1)[q / \alpha]_{k} \alpha^{k}}{[\beta]_{k+1}}+\sum_{k=0}^{\infty} \frac{k[q / \beta]_{k} \beta^{k}}{[\alpha]_{k+1}} \tag{2.3}
\end{equation*}
$$

and made use of this relation to derive several Eta-function identities.
In this paper we would like to point out that proper choice of other values of $z$ (2.2) can lead to several new and interesting Eta function identities. We shall also derive several other identities from (2.3) which were possibily not noticed by Bhargava and Somashekara [1].

For $z=-q^{1 / 2}$ (2.2) leads to the following new relation,

$$
\begin{equation*}
\frac{(1-\alpha)}{(1-\beta / q)} \frac{[q]_{\infty}^{3}[\alpha \beta]_{\infty}}{[\alpha]_{\infty}^{2}[\beta]_{\infty}^{2}}=q \sum_{k=0}^{\infty} \frac{(k+1)[q / \alpha]_{k}(\alpha q)^{k}}{[\beta]_{k+1}}+\sum_{k=0}^{\infty} \frac{k[q / \beta]_{k}(\beta / q)^{k}}{[\alpha]_{k+1}} \tag{2.4}
\end{equation*}
$$

## 3. Eta-Function Identities

In this section, we shall establish certain interesting Eta-function identities.
(i) Taking $\alpha=w$ and $\beta=w^{2} q\left(w=e^{2 \pi i / 3}\right)$ in (2.3), we get the following identity

$$
\begin{equation*}
\frac{1}{\left(1-w^{2}\right)} \frac{\eta^{6}(\tau)}{\eta^{2}(3 \tau)}=\sum_{k=0}^{\infty} \frac{(k+1) w^{k}}{\left(1-w^{2} q^{k+1}\right)}+\sum_{k=0}^{\infty} \frac{k w^{2 k} q^{k}}{\left(1-w q^{k}\right)} \tag{3.1}
\end{equation*}
$$

(ii) Next, setting $\alpha=-w$ and $\beta=-w^{2} q$ in (2.3), we get,

$$
\begin{equation*}
\frac{\eta^{2}(\tau) \eta^{2}(2 \tau) \eta^{2}(3 \tau)}{\left(1+w^{2}\right) \eta^{2}(6 \tau)}=\sum_{k=0}^{\infty} \frac{(k+1)(-w)^{k}}{\left(1+w^{2} q^{k+1}\right)}+\sum_{k=0}^{\infty} \frac{k\left(-w^{2} q\right)^{k}}{\left(1+w q^{k}\right)} \tag{3.2}
\end{equation*}
$$

(iii) Again, taking $\alpha=i q$ and $\beta=-i q$ in (2.3), we get

$$
\begin{equation*}
\frac{1}{(1-q)} \frac{\eta^{4}(\tau) \eta^{2}(2 \tau)}{\eta^{2}(4 \tau)}=\sum_{k=0}^{\infty} \frac{(k+1)(1+i)(i q)^{k}}{\left(1+i q^{k+1}\right)}+\sum_{k=0}^{\infty} \frac{k(1-i)(-i q)^{k}}{\left(1-i q^{k+1}\right)} \tag{3.3}
\end{equation*}
$$

(iv) Further, setting $\alpha=i q$ and $\beta=-i q$ in (2.3), we get,

$$
\begin{equation*}
\frac{q^{-3 / 8} \eta^{3}(\tau) \eta^{3}(2 \tau) \eta^{2}(8 \tau)}{\eta^{4}(4 \tau)}=\sum_{k=0}^{\infty} \frac{(k+1)(i q)^{k}}{\left(1+i q^{2 k+1}\right)}+\sum_{k=0}^{\infty} \frac{k(-i q)^{k}}{\left(1-i q^{2 k+1}\right)} \tag{3.4}
\end{equation*}
$$

(v) setting $\alpha=\beta=q$ in (2.3), we get,

$$
\begin{equation*}
\frac{\eta^{8}(2 \tau)}{\eta^{4}(\tau)}=\sum_{k=0}^{\infty} \frac{(k+1) q^{(2 k+1) / 2}}{\left(1-q^{2 k+1}\right)}+\sum_{k=0}^{\infty} \frac{k q^{(2 k+1) / 2}}{\left(1-q^{2 k+1}\right)} \tag{3.5}
\end{equation*}
$$

Now, we shall establish Eta function identities with the help of (2.4). Replacing $q$ by $q^{2}$ in (2.4), we get,

$$
\begin{align*}
\frac{(1-\alpha)}{\left(1-\beta / q^{2}\right)} \frac{\left[q^{2} ; q^{2}\right]_{\infty}^{3}\left[\alpha \beta ; q^{2}\right]_{\infty}}{\left[\alpha ; q^{2}\right]_{\infty}^{2}\left[\beta ; q^{2}\right]_{\infty}^{2}} & =q^{2} \sum_{k=0}^{\infty} \frac{(k+1)\left[q^{2} / \alpha ; q^{2}\right]_{k}\left(\alpha q^{2}\right)^{k}}{\left[\beta ; q^{2}\right]_{k+1}} \\
& +\sum_{k=0}^{\infty} \frac{k\left[q^{2} / \beta ; q^{2}\right]_{k}\left(\beta / q^{2}\right)^{k}}{\left[\alpha ; q^{2}\right]_{k+1}} \tag{3.6}
\end{align*}
$$

Now, replacing $\beta$ by $\beta q$ in (2.4) and $\beta$ by $\beta q^{2}$ in (3.6), we get, respectively, the following relations,

$$
\begin{equation*}
\frac{(1-\alpha)}{(1-\beta)} \frac{[q ; q]_{\infty}^{3}[\alpha \beta q ; q]_{\infty}}{[\alpha ; q]_{\infty}^{2}[\beta q ; q]_{\infty}^{2}}=q \sum_{k=0}^{\infty} \frac{(k+1)[q / \alpha ; q]_{k}(\alpha q)^{k}}{[\beta q ; q]_{k+1}}+\sum_{k=0}^{\infty} \frac{k[q / \beta ; q]_{k} \beta^{k}}{[\alpha ; q]_{k+1}} \tag{3.7}
\end{equation*}
$$

and

$$
\begin{align*}
\frac{(1-\alpha)}{(1-\beta)} \frac{\left[q^{2} ; q^{2}\right]_{\infty}^{3}\left[\alpha \beta q^{2} ; q^{2}\right]_{\infty}}{\left[\alpha ; q^{2}\right]_{\infty}^{2}\left[\beta q^{2} ; q^{2}\right]_{\infty}^{2}}= & q^{2} \sum_{k=0}^{\infty} \frac{(k+1)\left[q^{2} / \alpha ; q^{2}\right]_{k}\left(\alpha q^{2}\right)^{k}}{\left[\beta q^{2} ; q^{2}\right]_{k+1}} \\
& +\sum_{k=0}^{\infty} \frac{k\left[1 / \beta ; q^{2}\right]_{k} \beta^{k}}{\left[\alpha ; q^{2}\right]_{k+1}} \tag{3.8}
\end{align*}
$$

(vi) If we replace $\alpha$ and $\beta$ by $w q$ and $w^{2} q$ in (3.8), we get, after some simplification, the following interesting identity,

$$
\begin{align*}
& \frac{q^{-1 / 2}\left(1+q+q^{2}\right)}{\left(1-q^{2}\right)} \frac{\eta^{2}(\tau) \eta^{2}(2 \tau) \eta^{2}(6 \tau)}{\eta^{2}(3 \tau)} \\
& =q^{2}\left(1-w^{2} q\right) \sum_{k=0}^{\infty} \frac{(k+1)\left(w q^{3}\right)^{k}}{\left(1-w^{2} q^{2 k+3}\right)}+(1-w / q) \sum_{k=0}^{\infty} \frac{k\left(w^{2} q\right)^{k}}{\left(1-w q^{2 k+1}\right)}, \quad w=e^{2 \pi i / 3} \tag{3.9}
\end{align*}
$$

(vii) Next, we put $\alpha=w$ and $\beta=w^{2} q$ in (3.7), we get, after some simplification,

$$
\begin{equation*}
\frac{\left(1-w^{2} q\right)}{(1-q)(1-w)} \frac{\eta^{6}(\tau)}{\eta^{2}(3 \tau)}=q\left(1-w^{2} q\right) \sum_{k=0}^{\infty} \frac{(k+1)(w q)^{k}}{\left(1-w^{2} q^{k+2}\right)}+(1-w / q) \sum_{k=0}^{\infty} \frac{k\left(w^{2} q\right)^{k}}{\left(1-w q^{k}\right)} \tag{3.10}
\end{equation*}
$$

(viii) Again, if we take $\alpha=-w_{1}, \beta=-w^{2} q$ in (3.7), we get, after some simplification,

$$
\begin{gather*}
\frac{\left(1+w^{q}\right)}{(1-q)(1+w)} \frac{\eta^{2}(\tau) \eta^{2}(2 \tau) \eta^{2}(3 \tau)}{\eta^{2}(6 \tau)}=q\left(1+w^{2} q\right) \sum_{k=0}^{\infty} \frac{(k+1)(-w q)^{k}}{\left(1+w^{2} q^{k+2}\right)} \\
+(1+w / q) \sum_{k=0}^{\infty} \frac{k\left(-w^{2} q\right)^{k}}{\left(1+w q^{k}\right)} \tag{3.11}
\end{gather*}
$$

(ix) Further, taking $\alpha=\beta=q$ in (3.8), we get,

$$
\begin{equation*}
\frac{q^{1 / 2} \eta^{8}(2 \tau)}{(1+q) \eta^{4}(\tau)}=q^{3} \sum_{k=0}^{\infty} \frac{(k+1) q^{3 k}}{\left(1-q^{2 k+3}\right)}-\sum_{k=0}^{\infty} \frac{k q^{k}}{\left(1-q^{2 k+1}\right)} \tag{3.12}
\end{equation*}
$$

(x) Next, if we put $\alpha=\beta=-q$ in (3.8), we get,

$$
\begin{equation*}
\frac{q^{-1 / 2} \eta^{4}(\tau) \eta^{4}(4 \tau)}{\eta^{4}(2 \tau)}=q^{2}(1-q) \sum_{k=0}^{\infty} \frac{(k+1)(-)^{k} q^{3 k}}{\left(1+q^{3 k+3}\right)}+\left(\frac{1-q}{q}\right) \sum_{k=0}^{\infty} \frac{k(-)^{k} q^{k}}{\left(1+q^{2 k+1}\right)} \tag{3.13}
\end{equation*}
$$

(xi) Again taking $\alpha=-w q$ and $\beta=-w^{2} q$ in (3.8), we get,

$$
\begin{gather*}
\frac{q^{-1 / 2}\left(1-q+q^{2}\right)}{\left(1-q^{2}\right)} \frac{\eta^{8}(2 \tau) \eta^{2}(3 \tau) \eta^{2}(12 \tau)}{\eta^{4}(6 \tau) \eta^{2}(4 \tau) \eta^{2}(\tau)}=q^{2}\left(1+w^{2} q\right) \sum_{k=0}^{\infty} \frac{(k+1)(-)^{k}\left(w q^{3}\right)^{k}}{\left(1+w^{2} q^{2 k+3}\right)} \\
+(1+w / q) \sum_{k=0}^{\infty} \frac{k(-)^{k}\left(w^{2} q\right)^{k}}{\left(1+w q^{2 k+1}\right)}, \tag{3.14}
\end{gather*}
$$

(xii) Lastly, if we put $\alpha=i q$ and $\beta=-i q$ in (3.8), we get,

$$
\begin{equation*}
\frac{q^{-1 / 6} \eta^{6}(2 \tau)}{\left(1-q^{2}\right) \eta^{2}(4 \tau)}=q^{2}(1+i q) \sum_{k=0}^{\infty} \frac{(k+1)(i q)^{k}}{\left(1+i q^{2 k+3}\right)}+\left(1-\frac{i}{q}\right) \sum_{k=0}^{\infty} \frac{k(-i q)^{k}}{\left(1-i q^{2 k+1}\right)} \tag{3.15}
\end{equation*}
$$

## Acknowledgement

This work is supported by Major Research Projects F.31-83/2005(S.R.) dated March 27, 2006 and F.No.32-164/2006(SR) dated March 6,2007 sanctioned by University Grant Commission, Govt. of India, New Delhi, to Remy Y. Denis and S. N. Singh, respectively, for which they wish to thank the authorities concerned.The first author is also thankful to D.S.T.,Govt of India,New Delhi, for financial support under research project.

## References

[1] Bhargava, S. and Somashekara, D.D., Some Eta function identities deduced from Ramanujan's ${ }_{1} \Psi_{1}$ summation, J. Math. Anal. Appl. 176(2)(1993), 554-560.
[2] Slater, L.J., Generalized Hypergeometric Functions, Cambridge University Press, Cambridge, 1960.

